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Note: Write Answers fo the Cuestions o the objective answer sheet provided. Four possible answers A, B, Cand Do &
ach quasfion are give
answer you consider correct, fill the corresponding circle A, B, C or D given in front of each questign with Marker or Peq il o mg answe a(le%( p:}w\‘)})& !
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1.1, In ERD model, the relationship beiween the two entities is represented by a:

(A) Diamond symbol {E)] Rectangular box (C) Qval symbol (1) Line
2 In 3NF. a non-key attribute must riot depend on a (n}:

(A) Non-key attribute (B Key attiibute ©y Composite key o) Sort key
3. The data in table is entered in:

(") Design view (= Normal view (C) Data sheet view D) Layout view
4, IHow rnany are the layout of Form”

{A) 2 (B 3 (©) 4 (D) 5
5. Which of the following represents a collection of concepts that are used to describe the st/nmtﬁé’d\adagbase?

(A) Data warehouse (B Data medel (C) Data structue ~{D) N\ Datatype
8. Insert command is used to insert: / ( k j

(A) Anew table (= A new record (C) A view (D)\ / Dependencies

C-LANGUAGE Q N

7. The function getche ( ) is defined in: S

(A) Stdio.h (B String.h @‘ Math‘}\ (D) Conio.h
8. Which of the following is NCT selection statement? | \\ N ("#\\‘

(&) If To® Switch A \<Vh|ln () If elge\ )’
9. When condition never becomes felse the loop becomes: X /

(A) Infinite loop B Continuous loop (© \\ Hmle loqp ~lested pép/
10.  Function prototypes for buili-in functions are specified in: \

(A) Source files (B Header files (®) Oﬁ;ect files N ~—+mﬁqe files

11, Clanguage was developed i~ TR

(A) 1969 /(Bl 197\,\ (c)‘\\/// 1974 \ D) 1977

12.  To compile a C language program use:
(A) F2 B T A5 (©) /,\mr 9 \ / F3

13, Which of the following operator fias the lowest ocrdu e?
() = ®) = o) +

14, The symbOk' == " represents: Ky\
(A) rithmatic operator (B} Relatlonalo er tor Agsignment operator (D) Logical operator

15. a/= /b i$ equivalept to:

(A b/=a (8 a=/ S a=a/b (D) b=bja
\ AN VISUAL BASIC
7. The statementthat wil immedjately terminate a For.. .nextl/oqokis:E
(A} Endfor 8 Exitlood .~~~ (C) End loop ) Exit for

8.  The upper bound of

ay with 10 \m‘uu\es is:
(®) 01 \Q ® \{1 (©) 9 (D) 5
9. Which method cauces the cortrol to be re-grawn?
A) Refresh \51 / Set focus (©) Visible D) Move
10.  The prefix for namingamen%uj :
}

A M mnu (C) mne (D) Mn
11, The diamond symbol in a flow chart indicates:

(A) Input (B) Condition (C) Process (D) Qutput
12.  To exit visual basic:

(A) Ctrii+Q (8 Alt+T (C) Alt+Q (D) Ctrl+2
13.  One can enter data in a control only when it has:

(A) Focus (B Control (C) Tab order D) Mask
14, The expression 3 mod 5 has a value equal to:

(A) 2 (B 3 () 1 (D) 0
15.  The entire select case construct is terminated with:

(A) Case else (8 End if (C) End select (D) -, Stop select
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Write show answers of any six paits from the followdng: 612=12)
What is data redundancy? i Define synonyir. i VWhat is the role of data administrator? h
How many primary keys can be defined in a table? v, Why is list box used in form?
How referential integrity is attained? vii. \WWhat do you mean by IDE?
What is the use of query wizard? % How does a data base differ from a tahle?

C LANGUAGE

Write short answers of any six parts from the following: (Bx2=12)
What is high level language? i, Distinguish between compiler and interpreter.
Why the logical error is the most difficult to trace? . Define syntex error.
Write the legal character for an identifier. el \

Rewrite the expression X+ 2, vithout using compound assignment opsrator, 7,
Pradict the output of the following code segment. Vil Find error in the f;dﬁo ing cod
\\
\

TR
& Be men):
I A

int x = 13; integer x, Y, SU7
inty = 3; Z=X+y .
print of ("%d Yd Yd”, %[V, Y X x% V), P{lﬁﬁ%{’sum = 96d", ), \‘\

How is a file closed?

JUNIE

\ N
\\ & \\ \
N
Dibtinguish be?ﬁv\vgeen compi er&in}mpreter‘ /
finksyntax errar. \\w,/ /
efine i S /

(DR} VISUAL BASIC
Write short answers of any six pats from the followlng:

What is high level language? ii.
Why the jogical error is the most difficult to trace? IV
\Write the legat character for an identifier. vi. Quse down eve .
What is mouse move event? ) /Vﬂr‘\\l\[hat is key up evept ix. }!pw form isdnloaded?

¢ LANGUAGE
Write short answers of any sjk patis from the following: > (6x2212)
Determine output of following gode ;egfn’e’rﬁ:\ i D guthut of\fo&va{} code segment:
Int n,0, b int Y = 3,8 ="3; '
n = 400; i \ IF (X == V) /(Y == )l (5 == 2)
a = n %180 Piptf ("Yes");
h o= / 0;\ }l'ﬁe
Print “Rem& ohd Yed", @, b); | A print {(“No");
Define Alrser () funchog? [ }ggtu a‘ag?w‘”g statement in &
\!Vh;ﬂmgp)—;)\ehs\lf hraak ib\missed in case block? “Temperature is between 25 and 35.
What Is the use obscanf ()%\\cﬁcfn? A Difierentiate between while and do while loop.
Gonvert iollow1ngl\®o\e¢\@o for 100p" " Whatis nested loop?

Int ¢ =2 \ )
Do —
print F("%d”", €);

While (C L= 5):
4 {OR) VISUAL BASIC
Write shott answers of any siX parls from the following:

What are Active X control il Define command button control.
Define procedure level vaiiale. iv. Whatis the purpose of “caption” property of control?
Which tunction loads a piciure at ru time? v, Whatis meant by gvent procedure’?
Deling” locked” property of textoox. vii. Differentiale betwsen image and picture contiol.
Detine combg HOX control. .
SECTION-H
Attempt any cne question from the following: (0.5 ACCESS) (8x18)
Explain features of database management system. 6. Whatis ER ciagram? Give an axample of ER diagram
SECTION-H
Atternpt any two guestions either from “C.Language” of “isual Basic”. {Br2=16)
“CeLanguage” “\igyal Basic”
Defing “if-else-il’ staternent, Explain it working with . Define it -~ then - - glse - structure? Explain its
syniax, owchart and example. working with syntex, Howchart and example. -

Write a program in C-lan(?uage which prints the sum ofthe 8 Wiite a program in VB which prints the sum of the

following series by using loop: following series by using loop: _
171, 1 41 : H‘j.}l¥'i‘ 1
Thstgty™ T srgtgtTy
Brictly descrioe the process of wilting & function in G-language 9. Briefly describe the process of writing 2 function in VB
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